[image: ]初四物理三模答案
一、选择题
1.C  2.B  3.D  4.D  5.C  6.B  7.C  8.A  9.B  10.C
二、填空题
11. ①J/(kg.℃)      ②热值                         12. A   
13.=                                             14.W1=W2=W3
15.0.6   铜   从b到a                             16.  85%  ①③
17.（1）                    （2）        
[image: ]
18.（1）3.00   （2） 45。(∠BOG)   (3) 甲  (4)2
19.（1）平衡   （2） 便于测量力臂（避免杠杆自身重力对实验结果的影响）  
 (3) 不变 (4)A
20.（1）①	甲丙   ②加热时间     ③B     （2）①甲乙②12×107
21.（1）  
	U1(U2 −U1)

	R0


      [image: IMG_256]
（2） 左   1.25（3）A   

22. （1）h=6cm=0.06m；      p=ρgh=1.0×103kg/m3×10N/kg×0.06m=600Pa；
    （2）V排=Sh=L2h=（10cm）2×6cm=600cm3=6×10-4m3，
          F浮=ρgV排=1.0×103kg/m3×10N/kg×6×10-4m3=6N；
23. 
(1)



(2)      
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